21. Impact of external influences
1. Insert the missing words:
All businesses, large or small, operate in a complex environment. Many of the factors that affect what a business does and how it does it are beyond the firm’s direct control – ie __________________ influences. A strategic approach to this challenge requires analysis of a firm’s existing position and future prospects, perhaps using techniques such as SWOT or the ________________ Matrix. Equally, it requires assessment of the external environment. Techniques such as Porter’s _____________________Matrix can help firms to devise strategies that take into account the external environment. However, in a changeable macro environment, _________________ is as important as planning.    Missing words from: internal, flexibility, tactical, external, strategic, Boston
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2. Two Ones 
The ambitious expansion plans of Chinese firms were dampened during the 2014/15 growth slowdown. A survey of 1,100 firms in China (see chart) revealed significant changes to their strategies.

2.1 Suggest one reason why a firm might increase investment during a ‘growth slowdown’. 

______________________________________________________________________________________________________________________________
______________________________________________

2.2 Suggest one factor that might determine whether a firm’s plans were affected slightly or seriously. ___________________________________________________
_____________________________________________________________________________________

3. Match the strategy to one or more of the following external influences 
	Strategy
	External influence
	External influence

	3.1 Cutting capacity by closing one of three UK factories, making 100+ redundancies
	A. Cuts in tax credits cause sharp falls in the real incomes of low-paid workers
	U. Rising interest rates put downward pressure on consumer spending

	3.2 A determined push upmarket across the whole product range
	B. The rate of corporation tax is reduced from 28% in 2010 to 18% by 2018
	V. Britain enters recession, with two consecutive quarters of negative economic growth

	3.3 A move to diversify the company’s product range across more markets and more countries
	C. China recovers from its slowdown, releasing a boom in luxury products 
	W. Britain’s growth rate falls behind that of other major economies 

	3.4 Businesses follow a path of big Increases in investment spending
	D. A pre-election Budget includes cuts in income tax and VAT
	X. The Chancellor decides to embark on a major infrastructure programme

	3.5 Some firms have to cut staffing in response to declining sales
	E. A sustained depreciation in the value of the pound against the Euro and the $
	Y. Economic growth in India opens up export opportunities for UK firms. 


4. Explain why:
4.1 A slowdown in consumer spending in America might lead a UK manufacturer to cutback on investment spending.

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

4.2 A change in consumer habits might lead a bank to close down branches across the country, leading to job losses.
______________________________________________________________________________________

______________________________________________________________________________________
21. ANSWERS: Impact of external influences
1. (In order of gaps) external … Boston … Strategic … flexibility

2.1 The sector it operates in or is investing in may not be affected; to take advantage of lower costs (as suppliers reduce prices to secure business); to gain competitive advantage (expanding/entering new markets whilst competitors are not able to).

2.2 The significance of overseas investment as part of the firm’s overall strategy; the extent to which strategy is flexible (some firms may be committed to investment and unable to change their plans).
3.1 = V

3.2 = C and D

3.3 = C, D, E, Y

3.4 = B, X

3.5 = A,W
4.1 A slowdown in consumer spending in America might lead a UK manufacturer to cutback on investment spending.

· If exports to the US were a large part of the UK company’s sales

· … and/or it had invested quite heavily in expanding capacity recently

· It would be wise to preserve cash to wait and see whether the slowdown is the start of a recession

4.2 A change in consumer habits might lead a bank to close down branches across the country, leading to job losses.

· Online banking is already huge, but it has further to go; if the switch to online were to speed up, it would be sensible to reduce the number of bank branches

· … also a switch away from cash (and therefore ATM usage) would also reduce the need for bank branches
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